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Stage 1 is called ___________
Stage 2A, Citric Acid cycle 

Stage 2B The ETC.






AKA The _______________  


 

Occurs in the  _____________
Occurs in the ___________
Occurs in the_____

It i[image: image2.png]‘Substrate-fevel ‘Substrate-lvel Ovidaiive.
phosphorylaion phosphoryation phosphoryation



s anaerobic, meaning

Aerobic, meaning


Aerobic, meaning 

it requires _______________
It requires ______________
It requires _______

Produces ______ATP

Produces ______ATP

Produces ____ATP

What if  Oxygen is not available???? Which stages can occur?________________ 

How many ATP molecules can be created?

How does Fermentation provide an alternative pathway? What is the value in this?

The Great Squat off.

Explain the burning feeling.

Why are your muscle cells working under anaerobic conditions during the squats.

If fermentation makes 0 ATP, why is it a valuable process?

Read “Muscle Fatigue and Endurance training.”










